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This is according to 2"/, who maintains that a an pays half 221>

Overview

The mwn cited the difference between a an 7w and a 7v 1 that a an pays half the
damages, and only 191n, while a 797m pay full damages and 7%yn. The X
explained (according to the 7"» that X111 Xpr1 X379)! the reason the 7awn did not
mention the difference that a on does not pay 7913 *¥n1, while a 7911 pays (272) 191,
is because the mwn follows the view of 2"7°7 that a an does pay 1912 *xn.

=999 '8N NON DOWN 19X DN OYY 9919 DOYN T9NIT DIVN INT RIPY NI
So there is no omission (since both a on and a 7y pay 1912 there is no difference
between them), for if you will argue that there is a difference, since a 7% pays a

complete 227> and a an only pays 921 21 (so why does the mwn not mention this

difference), the answer is -
= 9552 9919 OYY PTI TYINY P I8N OYYN DN 1IN XAT NIN NPV IND NN

This is not an omission since the 71w» taught (one of the differences between a an
and a 7v1n) a an pays half the damages and a 7¥» pays full damages and that

difference extends to 921> as well; on pays 7910 °xr and 7y pays a?w 7913, it is all included
in "1 0%wn v 1"n abwn an.

mooINn asks:
=999 DHYWN NDIPOA NINWI N TIINT 235D YNIN 9NN ON)

And if you will say; let him still teach that by a 7¥ even if it is stoned, the owner
still pays 921> -
= 299 aHW T Nr2Y 1INANT DD 9915 BHYN 1IN NYIPDA NINWI oM
However a an when he is stoned, the owner does not pay 2912 at all, for the owner
says, ‘bring him (the on) to 7''>2 and he will pay you’ -
— (WY R,a1 97 8np K33) 7Y 77 NNIY DIV £992 1399NTI 19910 NIN DYNUN 1N 18y NINT
For one cannot exact payment from a an for his damages, only from its body, as
the X723 states in '/7Y "7 MAIR T P91, so how can he pay 7912, since the on is worthless after

2P0 (it is X172 MOR). There is another difference between a on and a 791 so why does the mwn
not mention it?

! See previous *X 7"7 'o1n (TIE footnote # 3).
2 A on only pays 11 and a stoned ox is X372 OX and completely worthless.

1

TosfosInEnglish.com



X7 7"7 '010 2,81 N2> .7"'02

NID0IN answers:
= 37995091 119 T¥199 19D DN NPT NN DD 1N Y 2N XD 93 THT M0 U

And one can say; that this is also not an omission, since it is included in what
was taught that a an pays 1% and a 79 pays 797 2 —

n1voIN asks:
= 0PN DIV NYTHA INIYUN NYT 119995 19"

However it is astounding that we do not find anywhere explicitly -
= 9995 8N BYYN DNT IHIVIN YD 229 IIIN NNY

That 27759 had ruled that a an pays 9912 53717 -
= (ow a1 oy 7N 77 NNV VY P92 D901 DY Y39 YWINTT DIVN IN)

And if it is because 3"'77°7 expounds in "M 'T AR I 29D, the word *p3,* to mean -
- 2907 9207 Y991 9915 811 2P WIIT KDY ST 3179 )

He is ‘clean’ (free) from paying the value of the fetuses; however 2"7" does not
expound °p1 MW YY) to mean that he is clean from 2912 "2n (as others do), this

implies that 3"77>7 maintains that a an 7 is liable for 71913 >xn. This would seemingly be
the source that 3"77°7 maintains 1912 °X1 25Wn on.

mooIn rejects this source:
= NP TP908N KD 9919 2811 THVOT DIYN NIYVI 9IVT 920 BHIYY NnbT

But perhaps 2"7" really maintains that a on is 3"'rn 7105 and the reason he does
not expound Pl to mean 2"1» Pl is because no 0P is required to exempt a an

from 2'"'17; he is exempt without a P10D -
- 679 DHYW PT HaY IINANT 4913 TV NKY NP NWNYIT

For in a case where this on ox is stoned, 921> is not applicable, for we say ‘bring

him to 7''°2 and he will pay you’ -
- 72979 9109 DYHYAN 59 HY IN AN 1Y 29 Y 1) N9IPO NYH PRY)

And in a case where the ox is not stoned, for instance if he was accused by only
one witness, or by the owner’s admission; in these cases the owner is exempt from

paying 1912, based on the ruling of 5739 -
= 9109 NN XYY P9IN 12 NNAY MY (3, 97 ONN MINT

3 We therefore know that if a on receives 7770 there can be no 791> payment, since the an is now worthless, however
a 7y always pays 913 since he pays 7°2¥11 11; there is no need to repeat this difference again.
4 The 109 in N2,Xd (D°WOWn) NMW states that if a an MW kills a person the 71 should be stoned and concludes, 7ya)
*p1 i, There are various opinions how to expound this *p1 1w Sy21.
5 If a person causes a pregnant woman to miscarry he must pay the value of the fetus (to the husband); however we
derive from >p1 Wi Yv21 that if the ox caused the miscarriage, the owner is M721 172 W>.
¢ See previously footnote # 2.
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Who states there, ‘an ox who Killed a freeman (not an *1¥1> 72v) unintentionally,’
is exempt from paying 7913 - -

=915 9995 PPNYYN DYV NYIPDA NMYWNY 1T NN 1YY 0N HPO* NIYUN S9NV
As it says, ‘the ox is stoned and also his master shall be put to death’, we expound

this to mean, in a case where the ox is stoned, the owner pays 9913, etc., however
when the ox is not stoned, there is no 7912.'° In any event we have found no source that 3"
maintains 3" 29w an, so why does our X713 state 1913 °Xr 22wWn an ART A" 21 K’A'?!

NID0IN answers:
= 4915 '8N OYYN ON 9INRT NN O959)N 201 29 213 RN IWIIO NT AR

And it appears to '01n that this is the explanation of what the X773 says, %1% 87’

'S'"'7 AWM BN MART N7 AN -
= 15531 9913 28N VYN NIT YD

Meaning that he does not exclude paying 2" from the word "p1' -
- 295nwnY NN 1Y 1% BX DYYN NON NIN IND BYUN NDIT INDY

And the X713 does not mean precisely that he pays "1, but rather the X713 means

he would pay ' if he had from what to pay -
= 9919 8NN PP YIITT 9TYIN 229D ON 99 91PW 9995 8N NN R Nan DIV,

And in fact "1 is not considered an omission according to any Nin, except for

X'"% who expounds °P1 to mean that a an is 3''n% Sp1 -
- ©YYN 1N DM BYYN TN NYIPDA YD PRYI NAYT %Y 19

And he also disagrees with 7729, so therefore in a case where the ox is not stoned

a v would pay 9912 (since he disagrees with 7127), and a 2n would not pay because
of °p1; this would be considered an omission (71°2) —

Mmoo responds to an anticipated difficulty:

7 In this case the ox is not stoned since it was unintentional.
8 13,80 (D°wowWn) MnW regarding a 77 MW who killed a person.
9 This n»1* does not mean literally, rather it refers to the 7913 payment, as stated immediately in the following P05, o8
oY NwY 9.
10 Therefore there can never be a 193 payment by a an, if he is stoned we say 7"27 ¥x°27, and if he is not stoned, we
apply the ruling of 7127 that there is no 7913 if the ox is not stoned.
' The s'x7m3 question was why not mention that a an is 3"nn 7w9. The answer is that if we would derive from a P10
that an is 5"nn Mwa (as opposed to a T¥1M, who is 1913 2°17) that would be considered a valid 71"w; this should have
been mentioned. However now we are saying that we do not require a 109 to exempt a 3"nn on, and in fact "1
utilizes the 105 of *p1 for something else, not for 5", this tells us that there is no Mwd of 2"n, it is merely a reality that
we cannot collect 3" from a on, either because he is worthless (so that is included in 191»), or because of 7127 (which
would apply by a 7311 as well), therefore there is really no difference between a on and a 79 regarding 191.
12 According to 3" who does not exclude 2" from >p3, the rule should have been that 2"n 0%wn an, however in reality
he does not pay, either because he is worthless (701 o), or because of 727.
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= 139239 51999 Y73 YIITT NAYPY 2299 290 D9DHN YD 2329 VPIT XM
And the reason the X7 mentions 3'"'7159, rather than »''% who expounds 1 to

mean that he is %P1 from paying the value of an °1v1> 72y -
$PVY NN 142y 9T 9PY 9N KD 991 8NT 9N NITITHY

For according to ¥, granted that >''17 would not be a "vw, but 72y %27 would
be a MW (since he derives it from a p1oo).

Summary
Only according to "2 would 7913 °¥11 be considered a 71°w, since he maintains that a

an does not pay 2"n (even) in a case where it was not stoned, only because he
disagrees with 727 and expounds P31 to mean 7913 X1 Pl

Thinking it over

1. There are two question in the beginning of n1501n, one regarding a on paying X
99313, and the other regarding the exemption of a on paying 912 by 72°p0. Of the two
answers given; one that 1913 °x1 is included in 1", and two that the M5 by 779°p0 is
included in 191», which is the more novel answer?

2. moon explains the reason the XMx does not say ¥'"1 11 X, because the question
would still be there; why not mention the difference between a an and a 7vm
regarding 72y °»7."> Seemingly we can ask the same question on 2", why does the
X1n not mention another difference that a an does not pay m721°n7 and a 791 does?! 16

13 1f a 7vma mw kills an *1w13 72v the owner of the ox must pay the owner of the 72y thirty o°9pw. According to v"3 if
it was a an, the owner is exempt from paying anything. In any event ¥"1 does not expound 2" *p1, just like 377", so
according to ¥ there should also be no 77w from 3"n, since he is not excluding it from a 109, just like 3"7™.
14 The question would be why the 71wn did not mention that a 79 pays 72y "7 and a an does not. See ‘Thinking it
over’.
15 See footnote # 14.
16 See X"wN.
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